FEDERAL LITIGATION, PATENTS, TRADEMARKS AND COPYRIGHTS

I512 N FREMONT ST, #202 CHICAGO, IL 60642 JoAnne M. Denison★ JoAnne Cell Phone 773-255-7608 www.DenisonLaw.com

PHONE 312-553-1300 FAX 312-553-1307 JoAnne@DenisonLaw.com efax 312-376-8842

Yusuf Naqvi*, of counsel, YusufNaqvi@denisonlaw.com

*--Admitted NC (Inactive) & US Patent Bar

*-Admitted US Patent Bar

Invoice submitted to:

www.CostOfCorruption.com Chicago, IL

March 06, 2013

Come see our website at www.DenisonLaw.com. Pay your bill online - click on "Pricing" Tab. Pay your bill by Visa, MasterCard, Discover, American Express, check by fax/phone/email or Paypal Payment due in 30 days

Professional Services

			<u>Hours</u>	<u>Rate</u>	<u>Amount</u>
10/1/2012 JMD	COST OF CORRUPTION Emails between Joanne Denison, Joann Goldend, and Ken Ditaregarding terminating a guardianship. (11 emails)	2.75 owsky	\$300	.00/hr	825.00
10/2/2012 JMD	COST OF CORRUPTION Preparing one post on "notice of appeal" filed.	1.50	\$300	.00/hr	450.00
10/3/2012 JMD	COST OF CORRUPTION Emails between Joanne Denison, Troy Sieburg, and Ken Ditowsk regarding billing, notice regarding medication, and deposition transcripts. (10 emails)	2.50 xy	\$300	.00/hr	750.00
JMD	COST OF CORRUPTION Emails between Joanne Denison, and Ken Ditowsky regarding jurisdiction issues . (7 emails)	1.75	\$300	.00/hr	525.00
10/4/2012 JMD	COST OF CORRUPTION Telephone conference with SE regarding court hearing and judg do nothing until after appeal final.	0.50 ge will	\$300	.00/hr	150.00
10/5/2012 SG	MARY G SYKES BLOG Obtaining Court Order from 10/3/2012, Scanned and E-mailed to	0.75 o JMD	\$25	.00/hr	19.00
JMD	COST OF CORRUPTION Emails between Joanne Denison and Ken Ditowsky regarding Al complaint and recent cases. (10 emails)	2.50 RDC	\$300.	.00/hr	750.00
10/6/2012 JMD	COST OF CORRUPTION Emails with Ken Ditowsky, RosAnna Miller, and Rudy Bush regarding elder abuse and subject matter jurisdiction, . (19 emails of the control of the contro	4.75 ails)	\$300.	00/hr	1,425.00
10/7/2012 JMD	COST OF CORRUPTION Post regarding: Lingering GAL's.	2.00	\$300.	00/hr	600.00
10/8/2012 JMD	COST OF CORRUPTION PS post-why hasn't he been disciplined?	1.50	\$300.	00/hr	450.00

March 6, 2013

www.CostOfCorruption.com Page 2

	-	Hours Rate	Amount
10/9/2012 JMD	COST OF CORRUPTION 2.00 Reviewing affidavit from Attorney Ken Ditkowsky regarding Indiana proceeding; preparing blog post regarding same.	\$300.00/hr	600.00
JMD	COST OF CORRUPTION 4.75 Emails with Ken Ditowsky and Tim Lahrman regarding Ken's affidavit and Indiana court cases (19 emails)	\$300.00/hr	1,425.00
10/10/2012 JMD	COST OF CORRUPTION Preparing "cost of corruption" post for July and Rooker Feldman doctrine; preparing post on "house of cards/legerdermain" 3.50	\$300.00/hr	1,050.00
JMD	COST OF CORRUPTION 2.25 Emails with Ken Ditowsky regarding Ghai v. IDOFPR (9 emails)	\$300.00/hr	675.00
10/11/2012 JMD	COST OF CORRUPTION 1.00 Discussin with JRD regarding status of probate cases on blog and status of Wyman case + book.	\$300.00/hr	300.00
JMD	COST OF CORRUPTION 1.50 Emails with Ken Ditowsky regarding Karbin v. Karbin (6 emails)	\$300.00/hr	450.00
10/12/2012 JMD	COST OF CORRUPTION 2.00 Post announcing JHW website and post regarding guardianship and possibility for abuse; post regarding case from MAP where daughter was granted divorce in probate so she could inherit.	\$300.00/hr	600.00
JRD	COST OF CORRUPTION 1.00 Preparing billing for August cost of corruption emails.	\$125.00/hr	125.00
JMD	COST OF CORRUPTION 5.50 Emails with Ken Ditowsky regarding class action lawsuit and Nancy Vallone regarding discrimination (22 emails)	\$300.00/hr	1,650.00
10/13/2012 JMD	COST OF CORRUPTION 2.50 Reviewing Attorney Ken Ditkowsky draft complaints for Ardc and for the miscreants.	\$300.00/hr	750.00
JMD	COST OF CORRUPTION 1.00 Emails with Ken Ditowsky regarding class action lawsuit and civil rights action (4 emails)	\$300.00/hr	300.00
10/15/2012 JMD	COST OF CORRUPTION 4.00 Assembling package for Langdon Emison for litigation assistance.	\$300.00/hr	1,200.00
JMD	COST OF CORRUPTION 2.00 Intraoffice meeting with JHW regarding blog, tales of cases, tables of transcripts; list In regarding Tiffany on Blog.	\$300.00/hr	600.00

March 6, 2013

www.CostOfCorruption.com

3 Page Hours Rate **Amount** 10/15/2012 JRD **COST OF CORRUPTION** 2.00 \$125.00/hr 250.00 Preparing complaints for Attorney Ken Ditkowsky to ND III federal court. **COST OF CORRUPTION** WA 1.00 \$50.00/hr 50.00 Editing Northern District III Complaint for Attorney Ken Ditkowsky. Blogging Tiffany case and that Notice of Hearing for time, date, and place is jurisdictional. JMD COST OF CORRUPTION 2.00 \$300.00/hr 600.00 Emails regarding class action and transcripts (8 emails) 10/16/2012 JMD **COST OF CORRUPTION** 3.00 \$300.00/hr 900.00 Appear in bankruptcy court and blog; preparing blog post- "who needs John Wyman's book? A whole lot of Illinois attys!" **JRD COST OF CORRUPTION** 0.50 \$125.00/hr 63.00 Scan and post recent MGS transcript. **COST OF CORRUPTION** JMD 3.25 \$300.00/hr 975.00 Emails regarding Wymans Book and Glorias bankruptcy (13 emails) **COST OF CORRUPTION** 10/17/2012 JMD 3.00 \$300.00/hr 900.00 2 posts "Attorney Ken Ditkowsky's radio show", "tie ins from hospitals and nursing homes"; reviewing radio show. JMD COST OF CORRUPTION 4.75 \$300.00/hr 1,425.00 Emails regarding Ken's radio show, payments, and cases of interest. (19 emails) 10/18/2012 JMD **COST OF CORRUPTION** 2.50 \$300.00/hr 750.00 legal research regarding standards for guardianship and mental competency and post regarding same. JMD **COST OF CORRUPTION** 3.00 \$300.00/hr 900.00 Emails regarding transcripts and radio show, pneumonia, Mary Sykes weight loss, and probate courts. (12 emails) 10/19/2012 WA **COST OF CORRUPTION** 3.00 \$50.00/hr 150.00 Blog maintanence, conducting, tagging, and telephone conference with probate court for Sykes transcript copies. JMD **COST OF CORRUPTION** 2.25 \$300.00/hr 675.00 Emails regarding case reasearch for Sykes. (9 emails) 10/20/2012 JMD **COST OF CORRUPTION** 2.50 \$300.00/hr 750.00 2 posts. 10/22/2012 JMD COST OF CORRUPTION 2.00 \$300.00/hr 600.00 Emails with K. Ditowsky and RosAnna Miller regarding arraignments

and class action (8 emails)

March 6, 2013

www.CostOfCorruption.com

Hours Rate **Amount** 10/23/2012 WA **COST OF CORRUPTION** 5.00 \$50.00/hr 250.00 Trip to Dailey Center to research Sykes probate file. Uploaded document list onto blog. JMD COST OF CORRUPTION 4.25 \$300.00/hr 1,275.00 Emails with K. Ditowsky and Nvallone regarding recent hearing, complaint, and Estate of Steinfeld (17 emails) 10/24/2012 JMD COST OF CORRUPTION 3.50 \$300.00/hr 1.050.00 Emails with K. Ditowsky and R. Miller regarding Code of Silence, class action funding, and Offlist to NASGA members (14 emails) 10/25/2012 JMD **COST OF CORRUPTION** 2.00 \$300.00/hr 600.00 Emails with K. Ditowsky regarding Jurisdiction in Sykes case and recovering damages for wrongful eviction. (8 emails) 10/26/2012 JMD **COST OF CORRUPTION** 2.00 \$300.00/hr 600.00 Emails with K. Ditowsky and Rudy Bush regarding damages for wrongful eviction and motion to vacate (8 emails) 10/27/2012 JMD **COST OF CORRUPTION** 1.75 \$300.00/hr 525.00 Emails with K. Ditowsky regarding appeals of judgement (7 emails) 10/28/2012 JMD **COST OF CORRUPTION** 2.00 \$300.00/hr 600.00 Emails with K. Ditowsky regarding financial exploitation and ARDC complaints (8 emails) 10/29/2012 JRD **COST OF CORRUPTION** 1.00 \$125.00/hr 125.00 sending emails WA **COST OF CORRUPTION** 6.00 \$50.00/hr 300.00 Trip to Dailey Center to update Table of Hearings for Sykes case. **COST OF CORRUPTION** JMD 1.25 \$300.00/hr 375.00 Emails with K. Ditowsky regarding Miriam Solo (5 emails) 10/30/2012 JMD **COST OF CORRUPTION** 3.00 \$300.00/hr 900.00 Emails with K. Ditowsky and Gloria regarding cease and desist (12 emails) 10/31/2012 JMD **COST OF CORRUPTION** 2.50 \$300.00/hr 750.00 Emails regarding Sykes blog and elder abuse with R. Miller (10 emails) For professional services rendered 122.50 \$32,007.00

Page

4

March 6, 2013

www.CostOfCorruption.	com			Page 5
Additional (Charges :			
				<u>Amount</u>
10/12/2012				2.66
10/15/2012				2.66
Total additio	onal charges			\$5.32
Total amou	nt of this bill			\$32,012.32
Previous ba	lance			\$333,799.51
Balance du	е			\$365,811.83
Current	30 Days	60 Days	90 Days	120 Days
32,012.32	0.00	60,586.24	0.00	273,213.27